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Question 1

Express the equation f(x) = x* —
4x3 + 3x?% + 3x + 7 in the form of
(=<1}
fx)=x*—4x34+3x%2+3x +

7 (@ (x — 1)a9 Mef<AE A 42

Question 2

What is the number of negative root of
e+ x>+ xt—xF-3x2-2x—-1=0
e +x*+xt—x?—-3x2—-2x-1=0
A% TAFAIGE AT I A7 AN
Fa?

Question 3

If one root of the equation

ax? + bx + ¢ = 0 with integer
coefficient is x + /v . then the other
rootis

ax? + bx + ¢ = 0 3w 52T {98
wHlebd 956 o x + [y T =
Tt Fe 2

Question 4

If a square matrix A is idempotent and
B=I-A, then what is the value of AB?

Ift; 35f AfEF A 5T =T
99 B = [ — A I eI AB-9 q& T

Question 5

What is the value of the determinant?

1 S R |
I T |
1 328
g 11
ffEF |1t 0 1|aFTH Fe?
1. 1.8
Question 6

What is the inverse of matrix (g i) ?

p

(g i)ﬂaﬁ%ﬁm@ﬂﬁ?

Question 7
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How are the solutions of the equations
rEy+2=0 2x—y+42z=10
x+hy—7z=07?

x4y -+z =0 2x—y+dz=0,

X + 5y — 7z = 0SS lI& A 8057

TS (Fare 2

Question 8

Which of the following properties is
hold by two sets A and B?

) ASAUB ii)A>AUB
iii) A =AUB iv)Ac ANB
it ST 76 A a9 B [oafefde @=
&3 (3T Bl

i) ACSAUB i)A>AUB
i) A =AUB iv)Ac ANB
Question 9

Which property is hold by three non-
emptv sets A, Band C ?
DAX(BNC)=(AXB)N(ANnC)
NAX(BNC)=(AXB)UAXD)
i) AX(BNC) #(AXB)N(AXC)
iv) AX(BNC)=(AXB)N(A X0
fe=iG SPery (76 A, B a3k C fafiis

@1 &35 (T B
DAX((BNC)=AXB)n(AnC(C)
NAX{(BnC)=(AXB)U(4xC)
HAX(BNC)#(AXB)N(AXC(C)
iv) AX(BNC)=((AXB)Nn(4AXC(C)

Question 10

If a mapping f: N — N is defined by
f(n) = n?,n € N. then what type of
mapping is this?

fEaef: N » Na2 g Ware =d
(Af(n) = n?,n € N, ©RESf (S5

fasr 2

Question 11

If a mapping f: R — R is defined by
f(x)=x,x € R, then what type of
mapping is this?

fadf:R — RIZ ®ME W&#w® = (I
f(x) = x,x € R, O f (F5 (bas ?

Question 12

If a mapping f: R — R is defined by
f(x)=1,x € R, then what type of
mapping is this?

fbasf:R - RAT ®E@ M&w® 26 (I
f(x) = 1,x € R, O12Ef (F9 6a9?

Question 13



What is the commutative property of
the groupoid(S5,*)?

(BT TeT (S, *)-4 ffey =f s g% =im
2= o @

Question 14

What is the associative property ofthe
groupoid(5,*)?

(T WeTB(S, *)- ST &3 T ==
EQEICL Ry

Question 15

Which of the following is a group?

i) (R,—) i) (N, )
iii) (R, +) iv) (Z,%)
fevafefie @M=t a6 v 2E?

i) (R,—) if) (N, —)
iii) (R, +) iv) (£,*)
Question 16

Which of the following groups is
abelian?

i) (Mz(R),*)

i) (53,°)

iii) (M5 (R),+)

iv) None of them

forafefae (@ walt <Siesg @y 2

i) (Mz(R),*) i) (S3,°)

i) (M, (R),+) iv) (BB AT
Question 17

What is the order of the element 2 in
the group (R, +)?

(R, +)-92 Welibd JEY ST 2-95 T
Fa?

Question 18

Which is the following is the subgroup
of (M2(R),+)?

(5 1)

if) ({@ g):x €R},+)
i) ({@ 2) X €R}, )
iv) [{(2 i) X ER},+)

faafafie @@b M, (R),+)-99 Boma
2E 2

(5 1)

i) ({(° g):x €R},H)

i) (_{@ 2) X €R},H)
iv) ({(2 i) xR}, +)



Question 19

Which of the following is cyclic group?

)(Q,+) i) (£, +)

i) (Ky,*) iv) None of them
ferafeifae (19 el 5o uel 2

) (Q,+) i) (Z,+)

iif) (Ky,*) iv) (PTABZ ]
Question 20

In the ring , which of the following property
is satisfied?

Haxb=b=xa

MNMa+b=b+a

iaxb=bxax*a

w)axb=b+b=xa

(PN IW -7 [FfElde &= of sdw
(T BLeT?

Daxb=b=xa

Ma+b=b+a

i axb=bxaxa

W)axb=b+b=*a

Question 21

Which of the following is a ring?
i) (R, —,*) ii) (N, +,*)

i) (R, +,*) iv) None of them
ferafeifare (G 996 097 2@
i) (R, —,*) i1) (N, +,*)

i) (R, +,*)  iv) (@EG3

Question 22

Which of the following is not an
integral domain?

i) (@, +%) i) (Zg, +,*)

ii1) (R, +,*) iv) None of them
forafefie @G aFf6 TA1HE %99 2@
«[?

) (Q,+) i) (Zg, +,*)

iii) (R, +,%)  iv) (@EGI T

Question 23

Which of the following is a field?
i) (Z,+,%) if)(M2(R), +,*)
iii) (R, +,*) iv) None of them
feraferfane (14t a5 (Fa 2@
) (£,+,%) ii)(M2(R), +,%)
i) (R, +,)  iv) (&G



Question 24

What are the eigen values of the
R
matrix (O 1) ?

(g ?)ai‘w@aﬁ?ﬁaﬁtﬁﬁmﬁ

Lol

Question 25

What is the order of the group (5,,°)?
(Sp,0)-92 UETH A $9?

Question 26

Which of the following has zero
divisor?

D) (Ze, +,*) 1) (R,+,*)

iii) (£11,+,*) 1iv) None of these
ferafeifane (1 1 ST =ie?

i) (Zg, +,*) i) (R, +,*)

i) (Zy1, +,%) iv) (FTEI63 9]

Question 27

What is the equation of the straight line
passing through (2.3)and (6.4)?
(2,3)a3:(6, D)=t et (aTfea
sHtET fF 2

Question 28

The equation of a circle with centre
position at (0.0) and radius a is

a6 (STEd e aT 0T T IF
(FTad T4 (0,0) AT T a

Question 29

What is the modulus of the sum of the
following vectors?2i— j+ 3k, i+
§=32k 20=3F =%

20—+ 3k, v+]—2k 2i—=3j—
4k (ST aSfT @B ETE ARG TS
Fe?

Question 30

Find the value of (i — 2j 4+ 3k) X
(2i+j—3k).(+ k) is
(i—2j+3k)X

i+ j— 3k).(j + k)-8 & foey

PP|

Question 31



What is the conjugate of the
complex number  +iv2 ?

T+ V2 I3 S Gioe A6

P97

Question 32

Solve the equation
BE A =,

ez +2 = 0 A3 TNFANOLP TN
FP |

Question 33

Expand f(x) = x> —bx*+12x2 -1
as a polynomial in (x — 1)

f(X)=x>—-56x*+12x2 -1 (&F (x—-1)
4 IS [REEH e Fa|

Question 34

What is the minimum number of complex roots of the equation?
xT—2x*+3x*—-1=0
X7 —2x*+3x*—1=0 4%

HLAN ¢w?

Question 35

If one root of the equation
x*—2x34+6x2+22x+13=0

i.c. 2 + 3i, then find all other roots.

x*—2x3 +6x24+22x+13=0

B ANSANT JHI0 A 2 + 31 2
e Aoy Bfet foefy s |

Question 36

Is the matrix

2 =P i
(—1 3 4 ) idempotent?
. =g wj

2 -2 —4

(—1 3 4 ) 92 WG
T -3 -3
S{oT ?

Question 37

Solve the equations x + 2y — 3z =1,
2ZX—y+z=4 x+3y="5h

x+2y—3z=1,2x—y+z=4, x+
3y =5 STNIPIT STHRA ST
< |

Question 38



What is the relation between
det(4) and det(AT), where 4 is any
square matrix?

W 35 EH 4 97 CFLA det(4)
L3¢ det(AT) NCHF STHIG 357

Question 39

Which property is held by three sets
A, Band C?

JAAB=BAA

iAN(BA C)=(ANB)A(ANC)
AAA= A

iv) AX(BNC)=(AxB)N(AxC(C)

[SAIG ST (516 4, B 448

¢ [NEfEts @@ st (I Bre?
JAAB=BAA

i) AN(BA C) =(ANB)AANC)
iAAA= A

V) AX(BNC)=(AXB)N(AXC)

Question 40

If a mapping f:Z — Z is defined by
f(n) = —n,n € Z, then what type of
mapping is this?

B&T f:Z - 7 GBS FIEMS =6
(J f(n) = —n,neZ R0
f (& foae 2

Question 41

If a mapping f:[0,2n] = Ris
defined by f(x) = sinx, x € [0,27],
then what type of mapping is this?

549 f:[0,21] — R G2OIF HAL&S
2T (A f(x)=sinx,x € [0,2m],
OIR(E f (A BT ?

Question 42

If a mapping f: {1,2,3} = {1,2} is
defined by f(x) =2,x € {1,2,3},
then what type of mapping is this?

o  f£:{1,23)—({1,2) J2eNR
&S = (T f(x) = 2.x € {1,2,3},
IR f (PN HAT ?

Question 43

What is the necessary and sufficient
condition for the existence of the
inverse map of f: 4 —= B?



ﬁqf:A%Bﬂﬁﬁﬂ%@hEW
%@?ﬂﬂmeﬂtﬁ%

Question 44

What is the range of the function
f:{1,2,3,4,5} — {1,2,3,4} is defined
by f(x) =2,x € {1,2,3,4,5},

oA f:{1,23,45) - {1,234}
AZOIEA GO =T (T f(x) =2,x €
{1,2,3,4,5}, OI=( f 4 AT 07

Question 45

Which of the following is a group?

i} ({1.2,3},-) i) (N,—)
i) (Z,, +) v) (Z,%)
fNafds @G a0 W =037
i) ({1,2,3}.-) i) (N,—)
i) (Z,, +) v) (Z,%)
Question 46

Which of the following groups is/are
abelian?

) (R —{0},%) ii) (S3.0)

i) (Z,,, +) iv) None of them
S (= e [ 2

) (R — {0},%) ii) (S3.0)

iii) (Z,,, +) iv) @S A
Question 47

What is the order of the element 2 in
the group (Zg, +)?

(Z,, +)-92 RAGF V(T BAMA 2-44
TN o7

Question 48

What is the order of the element 1
in the group (R — {0},#)?

(R — {0},%)-42 WO (KT GATAN
1-49 Y F?

Question 49

Which of the following is cyclic
group?

(R, +) i) (Z,+)

iii) (My(R), +) iv) (Z3,+)

MRS (FH 70 bepsy 7 ?
(R, +) i) (Z,+)
iii) (My(R), +) iv) (Z3,4)



Question 50

What is the nature of the solutions

of the equations x+3y+3z=0,
x+2y—2z2=0, y+4z=07

r+3y+3z=0,.xF+2y-z2=0.
y+ 4z = 0 TNFITSIFRA STV
&fet (FI?

Question 51

Which of the following is a ring?
i) (2Z, +,#) i) (N, +,%)
i) (Z,+.%) iv) None of these

@l (et 950 9 =12
) (22, +.5) i) (N, +%)
i) (Z,4,4)  iv) (FWIGR A

Question 52

Which of the following is an integral
domain?

) (Q,++) i) (Z3, +,%)

i) (2Z,+,%) i) (7Z,+,%)

fafefde @@t a6 yfia=
N Z(Q?

i} (Q,+) i) (Z3, +.%)
iii) (2Z,4++) V) (7Z, +%)

Question 53

Which of the following is/are field?
i) (Z7,+%) (M2 (R), +,#)
i) (R, ++) V) (Zg, +.%)

fAafds (@mafE 96 v
(2

) (Zpt)  )MR) )
i) (R, +,*) iv) (Zg, +.%)

Question 54
What are the eigen values of the

matrix G :) ?

(> ¥ gz wifGs Ba wnzsm

3 2
NCRR G EG

Question 55

What is the order of the group K,,0)?

K,,0)-42 AT &P $O?



Question 56

Which of the following does not

have zero divisor?
) (Ze,+%) i) (R,+%)
i) (Zyq,+%) ) (Z,+%)

RS (@ T oo W2?
) (Ze,+%) i) (R +%)
iil) (Zyy, +%) V) (Z,+%)

Question 57

Find the polar coordinate of the
Cartesian coordinate (0,2).

(T 1 SIS FI% (0,2) ©F
(B BNE SO

Question 58

The equation of a circle with centre
position at (5,4) and radius r is

A0 (SR ANean AT

FFIT IF (T WIZH (5,4) A7
EINIERS

Question 59

Find the center of the circle
r=23sin6 +4cosé

r=3sinfd +4cosd

J(od (| [T T

Question 60

If the magnitude of a vector 5i +
pj + 42 k is 11, then find the value

of p.

0 5i+pj + 42k (OREI D
11 X, O p I N FS?



